8 HE dEF= JIF3XAH1XD &1t
3 = 73S (THe - o)
43= 3, g 2@ 2 1% ZA 12 Mg chl
B#7t4 o £< Eatx H|-2
At2H(17H/300~350q) 2,059 1,543 516 33.44%
H{ (171/650~700g) 3,198 2,378 820 34.48%
=2 (1kq) 3,135 0| 7= At - ]
9(17}/1kg) 1,084 1,182 |- 98 -8.29%
Hij 2= (12 7| /3kg) 2,613 2,605 8 0.31%
HF(1kg) 5,323 0| 7= A} _ -
CHZ=(1kg) 12,796 O] = A} _ ]
B} K| 27| (= AH/ A4 4H/6000) 10,008 10,654 |- 646 -6.06%
=f K| 27| (=42 H|[ B -E/6009) 7,124 O] Z= Af - -
CH1 7|(10}2]/1kg) 6,478 6,124 354 5.78%
07| (=4S +1/6009) 53,748 O] &= A ] ]
07| (= A/E=4/6009) 25,848 0| = A ] ]
SETUE 07| (= 4t/S4/6009) 20,880 0| = A _ ]
(265 =) CkZF(1 T/ E 2H/307)) 4,299 J|Z=HZA - _
Z7|(10t2|/=4H/20an LY 2f) 1,642 7| =6 A - _
ZbX|(10}2| /= AH/80cmL| Q)) 7,033 7| = A - ]
DEo@of2|/2A/30mLl Q) 2,355 2,324 31 1.33%
HEJ(LO}2|/2{ A| OFAH/40m LY Q]) 3,551 3,308 243 7.36%
MEjarz|/2A28cmLy Q) 4,054 0| 7= A} ; ;
0o (10Ot2| /= A/40cmLY Q) 9,440 0| 7= A} - ]
SEN(AORE|/=4H/40emL| 2) 8,333 O/ &= A _ _
HO{(10f2| /=2 AH/23cmL| 2|) 6,060 O] = Af - .
ZHArO)A0f2]|/=4E/20cmLf 2|) 4,640 O] = A} _ _
Xt=(10F2| /=2 A/30cmLy Q) 30,000 0| 7= A - -
8= @ &l of(10t2| /= At/30cm) 3,992 3,787 205 5.42%
&1 8= 4t/1kg) 6,943 O] = A} _ _
%H(20kg) 52,349 51,749 600 1.16%
QF1II}H(1kg) 1,780 1,621 159 9.81%
7H0Hs (1kg) 8,202 9,071 |- 869 -9.58%
NEIHF (= 4/1kg) 32,629 O] Z= A} - _
(= At/1kg) 13,200 O] Z= A} - -
27HF (S HE/3k0) 3,785 7= E - -
e H(182/300g/2= A/ 2 EHH|E) 1,028 1,098 |- 70 -6.38%
(ﬁgz) AEFABL/F7]E) 5,291 5,483 |- 192 -3.50%
AZ=(1Y 350me/A 01 ) 1,252 1,252 - 0.00%
OHZ= (18 500me/A 04 %) 1,461 1,461 - 0.00%
AZS(14 350me/ Q| Al 4,000 4,000 Hst
OHZ= (15 500me/Q| Al) 4,000 4,000 Hst
3|22 (1L) 1,346 1,446 |- 100 -6.92%
A2 (1L) 1,240 1,328 |- 88 -6.63%
SO (1L) 943 991 |- 48 -4.84%
7h Q1 M H| A Ef K| ZHH| (1912 /LY At/ 2| Al 12,000 12,000 Hst
(255) AL AN QIR /Z LY AL/ Q| AL 12,000 12,000 =23t
[F2AHSF=]
* Atap/uf - X[l ZHap ol Sz Qe 4 RECE M8 S-hia 71H0| 4s5HE EY
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e 10T SAS 3, HF0E 3, AXMOIE 2, E25FE 2)
g 27I2LEHAR X 2 A

o = = IHAS (TS : 8)

o m REN® | ANB | BENB | OGS aqn. | some | wum | aom | suec | suse
At1H(17l/300~35009) 2,500 1,800 3,000 1,620 1,970 1,960 1,980 1,700 1,930 2,130
HH (17§/650~700g) 3,000 3,000 4,000 2,710 3,900 2,580 3,250 2,840 3,300 3,400
=2 (1kg) 3,000 3,500 2,000 3,330 3,900 2,830 3,360 3,000 2,730 3,650
2(17l{/1kg) 1,000 900 1,000 1,280 1,280 1,280 1,000 1,300 300 1,000
Hi Z=(1%£ 7|/3kQ) 1,700 3,800 2,500 3,170 2,480 2,480 3,000 2,400 1,600 3,000
3r(1kg) 5,000 6,000 5,000 = 4,920 4,920 o= o= A= 6,100
CH==(1kQ) 10,000 12,000 12,500 3,900 11,200 11,230 9,500 18,000 15,630 19,000
BN K| 27| (=4 2F 8 2H/6009) 10,800 10,800 9,900 10,080 10,140 10,140 3,880 9,600 10,200 9,540
K| 27| (= 4/ & H| B &/6009) 7,800 6,000 6,500 3,830 9,600 9,600 4,980 6,000 6,000 5,280
S 07|(0f2|/1kg) 6,500 6,200 6,500 6,830 7,900 6,900 5,800 6,500 5,800 5,800
2| 17| (=4t/S2/6009) 54,000 45,000 57,000 70,800 50,400 51,600 47,880 63,000 48,000 49,800
27| (= Ar/F=4/6009) 27,000 21,000 18,000 39,480 24,000 32,400 19,200 30,000 24,000 23,400
=2 2| 1 7[ (=% 4t/S2/6009) 12,000 15,000 = 35,880 o= 39,600 10,800 12,000 o= o=
(1685 chHZ2k1ut/E2H/3070) 4,500 3,500 3,900 5,780 3,980 3,980 3,450 2,900 4,400 6,000
Z7@ar2|/=A/20cm L} 2|) 1,700 1,000 300 1,980 2,200 2,200 1,560 2,000 1,340 1,640
& X[(10r2|/=4t/80cmLjj 2) 5,600 6,000 5,000 4,800 6,500 11,000 3,000 10,000 o= 6,400
1-s50{(10r2]/=4t/30m L 2) 2,000 2,500 3,000 1,700 2,400 2,250 2,000 1,700 2,500 3,500
HEQ(1O2|/2{A|OFAH/40em LY 2)) 3,400 3,500 3,000 4,980 2,980 = 4,500 2,500 = =
AMCHAOf2| /=2 AH/28cmL| 2)) 4,200 3,500 3,000 = = = o= = 5,300 4,270
OlA0t2|/=4H40cmL| 2)) 15,000 3,000 10,000 = = = A= 7,000 7,200 =
QFEH(10}2]/3 At/40cmLy ) 10,000 %S| 10000 %S %S %S %S %S 5,000 %S
HO1(10r2|/=4H/23cm L 2)) 5,000 NS 7,500 o= o= o= o= 6,000 5,000 6,800
ZERtOl(1Or2|/=AH/20cm Ly 2|) 5,000 3,500 5,000 4,280 4,000 3,900 6,800 NS NS NS
AHE(10t2]/Z4H/30cmLy 2)) 30,000 %S %S %S %S %S %S %S %S %S
ol = A o{10t2|/=2AH/30cm) = 4,000 5,000 2,480 2,200 3,750 4,200 5,000 4,500 4,800
£t 10 8K (= 4AH/1kg) 6,000 6,000 6,000 5,400 9,800 11,330 5,900 6,000 7,000 6,000
%2 (20kg) 59,000 53,000 54,000 51,990 54,000 54,000 49,500 48,000 50,000 50,000
QF1f(1kg) 2,000 2,000 1,200 1,600 1,660 1,400 1,380 2,500 2,000 2,000
7t0r=(1kg) 7,000 3,000 7,000 4,980 9,340 10,500 7,900 3,500 10,000 3,800
D=THE(=4H/1kg) 36,000 30,000 40,000 29,800 29,900 29,900 39,600 27,450 23,640 40,000
A T (== A/1kQ) 18,750 NS 18,750 10,960 11,200 11,200 14,240 NS 13,000 7,500
O==) UIM= (=2 Z2/3kg) 3,900 4,400 4,500 4,100 4,200 4,200 3,500 3,500 4,150 1,400
FE2(12/300g/= A/ SN &) 1,000 1,000 1,500 980 1,000 1,000 1,000 950 950 900
A2 18L/F7|5) 4,900 6,800 4,500 6,430 6,950 4,780 3,900 3,650 4,000 6,950
A(1Y 350me/A~01 A=) 1,400 1,260 1,250 1,180 1,190 1,190 1,300 1,250 1,250 1,250
OH=Z=(1" 500me/A~0Of &) 1,700 1,430 1,450 1,410 1,460 1,460 1,450 1,400 1,450 1,400
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